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void Fail

int i=0;1i<26;i++
trie i]=1;
queue<int>q;
g.push ;
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int head=-1,foh=0;
int m=1;m;q.pop(),head=q.front(),m--,foh=fail| head
int i=0,s=trie|head ;1<26;s=trielhead]| [++1

Is) trielhead] [il=trie[foh][i];
faills|=triel[foh][i];

g.push(s);
m++;
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int AC
int ans=0, root=1,id=t -97,k=trie[root] [id];
int i=0;t[i];i++,1id=t[i]-97,k=trielroot]|id
k>1&&8freql k] !=-
ans+=freqlk];
freq/ kl=-1;

k=faillk];
root=triel[root][id];

ans;
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#include<cstdio>

#include<cstring>

#include<queue>

using namespace std;

int n,vist ,tot;

char t ,SS )

struct unit{int v,s ,fail, flag; T
void init

int i=1;i<=tot;i++

Tl[i].fail=T[i].flag=0;
memset (T[i].s,0,sizeof(T[i].s

1

memset (vist,0,sizeof (vist
tot=1;

’

void Insert(int num
int root=1;
int
1=0,id=ss[num

:ssinuml[il;root=T|[root!.s[id],id=ss/num] [++1i]-

ITlroot].s[id
Tlroot|.s|[id|=++tot;

Tl root!.flag=num;
void get fail

int i=0;1i<26;i++
T .Slil=
queue<int>q;
g.push ;
T .fail=0;
int head,m=1, fafail;
m__

’

head=q.front();

gq.popt);

fafail=T head].fail;
int i=0;1i<26;i++
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IThead] .s[1i

T[T head]|.s[i]|.fail=T|fafaill.s

m++;
g.push(Tlhead].s[1i]);

void match

scanf("%s",t);

int
i=0,root=1,1d=t[0]-97,k=T[1].s[id];t[i];root=T[root
root!.s|id
k>
Tikl.flag) vist[T[k].flag]|++;
k=T[k].fail;
int main

scanf("%d",&n)&&n

init();
int i=1;i<=n;i++

scanf("%s",ss[i]);
Insert(i);

get fail();
match();
int mx=0;
int i=1;i<=n;i++
vist[il>mx) mx=vist|[i];
printf("%sd\n",mx);
int i=1;i<=n;i++
vist|[il==mx
printf("%ss\n",ss[i]);
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Tlhead].s[i]=T[fafail

.Ss[i];

.slid],id=t[++1]-97,k=T
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#include<cstdio>

#include<queue>

using namespace std;

int n,tot=1,vist[200005],pos[200005];
char t[200005],s[2000005];

struct unit{int son|27],fail,flag,in,ans; T[200005];
void Insert(int num

int root=1,id=t[0]-97;
int i=0;t[i];root=T|[root].son[id],id=t[++1i]-97
!'Tl[root].son/|id
Tlroot].son[id]|=++tot;
T[root].flag=1;
pos |/ num|/=root;

void get fail

int 1=0;1i<26;i++
T[O].son[i]=1;
gqueue<int>q;
g.push(1l);
T[1].fail=0;
int m=1,head, fafail,v;
m__

head=q.front();
fafail=T head].fail;
g.popl);

int i=0;1i<26;i++

v=T|head]|.son[i];
lv) Tlhead].son|[i]=T|[fafail].son|1i

.
’

Tlv].fail=T[fafaill.son[1i
TI[TIv].faill.in++;

m++;

g.push(v);

.
’

void match

scanf("%s",s);
int
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,root=T
.ans++;

i=0,id=s -
Tlroot

void topu

queue<int>q;
int m=0,head,v;
int i=1;i<=tot;i++
I(T[i].1in

m++;
g.push(i);

m- -

head=q.front();
q.pop();

T/ head].flag
v=T|head|.fail;
Tlv].ans+=T head

vist|[head|=T/|head
.ans;
1(--T[v].1in

g.push(v);
m++;

int main

scanf("%d",&n) ;
int i=1;i<=n;i++

scanf("%s",t);
Insert(i);

get fail();

match();

topul();
int i=1;i<=n;i++
printf("%sd\n",vist|[pos i ;

’
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